
MATHS

BOOKS - PRADEEP PUBLICATION

MATRICES

Example

1. If A is a matrix of order  and R is a row of A, find order of R

as a matrix.

Watch Video Solution

m × n

2. If A is a column matrix with 9 rows, find the order of a row R of A.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_t4GTmHkoqYiD
https://dl.doubtnut.com/l/_TzEFDvD1Eore


3. If a matrix has 8 elements, what are the possible orders it can

have? What , if it has 5 elements?

Watch Video Solution

4. Consider the matrices

 Find the sum of A and

B.

Watch Video Solution

A = [
1 0 2

0 2 3
] and B = [

3 5 0 7

0 −1 8 1
]

5. Give an examples of a matrix which is a row as well as a column

matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_TzEFDvD1Eore
https://dl.doubtnut.com/l/_tD4pCeLmpnAA
https://dl.doubtnut.com/l/_rD6XyYnfo6Ue
https://dl.doubtnut.com/l/_yuesEFod2hj9
https://dl.doubtnut.com/l/_uuK0kZnzOu4G


6. Give an examples of a matrix which is a lower triangular as well as

an upper triangular matrix.

Watch Video Solution

7. Give an examples of a matrix which is a square matrix of order 3,

which is not a diagonal matrix.

Watch Video Solution

8. Construct a  matrix  for which 

Watch Video Solution

2 × 3 A = [aij]2 × 3
aij = i − j

9. Construct a  matrix  for which 

Watch Video Solution

2 × 3 A = [aij]2 × 3
aij = ij

https://dl.doubtnut.com/l/_uuK0kZnzOu4G
https://dl.doubtnut.com/l/_yI1AGFdrz3hb
https://dl.doubtnut.com/l/_iHEukIZKl5aA
https://dl.doubtnut.com/l/_xxSN2qjvzxpX


10. Construct a  matrix  for which 

Watch Video Solution

2x3 A = [aij]2 × 3
aij = 2i + j

11. Construct a  matrix A whose elements are given by 

Watch Video Solution

2 × 2

aij = (i − 2j)21

2

12. Construct a  matrix A whose elements are given by 

Watch Video Solution

2 × 2

aij = | − 3i + j|
1

2

https://dl.doubtnut.com/l/_xxSN2qjvzxpX
https://dl.doubtnut.com/l/_GNali77bzGm0
https://dl.doubtnut.com/l/_K9tX1wA0yaV3
https://dl.doubtnut.com/l/_W4KqjFnFXnef


13. Construct a  matrix A whose elements are given by 

.

Watch Video Solution

2 × 2

aij = e2 /x sin jx

14. Construct a matrix  whose entries are given by 

Watch Video Solution

A = [aij]3 × 4

aij =
I − j

I + j

15. Construct a  matrix , whose element  are given by 

.

Watch Video Solution

3 × 2 aij

aij = e2ix sin jx

https://dl.doubtnut.com/l/_QNagLNzkmXbN
https://dl.doubtnut.com/l/_3NNFpG2YVwvR
https://dl.doubtnut.com/l/_zm9P0UxjUQAk


16. Write the element  of a  matrix A =  whose elements

 are given 

Watch Video Solution

a23 3 × 3 [aij]

aij aij =
|i − j|

2

17. Find the values of a, b, c and d from the following equation: 

Watch Video Solution

[
2a + b a − 2b

5c − d 4c + 3d
] = [

4 −3

11 24
].

18. Find x, y,z and w if .

Watch Video Solution

[
xy w

z + 6 x + y
] = [

8 2

0 6
]

19. Find the values of x and y if X = Y, where

.X = [
x + 10 y2 + 2y

0 −4
] and Y = [

3x + 4 3

0 y2 − 5y
]

https://dl.doubtnut.com/l/_7kwCHgIr2lXQ
https://dl.doubtnut.com/l/_RAjSoT7T3GwD
https://dl.doubtnut.com/l/_qlYQWtzYgPIq
https://dl.doubtnut.com/l/_gTXttF2QsR9c


Watch Video Solution

20. If ,

obtain the values of a,b,c and x,y and z.

Watch Video Solution

⎡
⎢
⎣

x + 3 z + 4 2y − 7

4x + 6 a − 1 0

b − 3 3b z + 2c

⎤
⎥
⎦

=
⎡
⎢
⎣

0 6 3y − 2

2x −3 2c + 2

2b + 4 −21 0

⎤
⎥
⎦

21. Taking  and C , verify

that 

Watch Video Solution

A = [
1 2

−3 0
], B = [

0 1

2 3
] = [

3 1

0 2
]

A + (B + C) = (A + B) + C

22. If  and , verfy that 3 (A+B) =

3A + 3B.

Watch Video Solution

A = [
1 −2 3

0 1 4
] B = [

0 2 5

6 −3 1
]

https://dl.doubtnut.com/l/_gTXttF2QsR9c
https://dl.doubtnut.com/l/_a1J8VEGbdpO5
https://dl.doubtnut.com/l/_cQqNvzFf12Sp
https://dl.doubtnut.com/l/_oXrfRh7nyyd5


23. Let A . Find the

followiing : 

A+ B

Watch Video Solution

= [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

24. Let A . Find the

followiing : 

A - B

Watch Video Solution

= [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

25. Let A . Find the

followiing : 

3 A - C

= [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

https://dl.doubtnut.com/l/_oXrfRh7nyyd5
https://dl.doubtnut.com/l/_UzYRJZSQ9whw
https://dl.doubtnut.com/l/_kR9HK1CLeOxC
https://dl.doubtnut.com/l/_HLMhy5MzbLNK


Watch Video Solution

26. Let A . Find the

followiing : 

2A - B - 3 C

Watch Video Solution

= [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

27. If  and  , then find 2A – B.

Watch Video Solution

A = [
1 2 3

2 3 1
] B = [

3 −1 3

−1 0 2
]

28. If

find 4A - 2 B + 3 C.

W t h Vid S l ti

A =
⎡
⎢
⎣

1 3 4

2 0 1

−3 2 3

⎤
⎥
⎦

, B =
⎡
⎢
⎣

0 2 −1

5 7 2

−1 0 3

⎤
⎥
⎦

and C =
⎡
⎢
⎣

2 −1 3

6 8 5

0 1 4

⎤
⎥
⎦

https://dl.doubtnut.com/l/_HLMhy5MzbLNK
https://dl.doubtnut.com/l/_hjKfBjJA8x3v
https://dl.doubtnut.com/l/_7GAQBJ8v0IYn
https://dl.doubtnut.com/l/_BdPL08MHsw9U


Watch Video Solution

29. If A = diag [1,-2,3] B = diag [3,4,-6] and C = diag [0,1,2], find A - 2 B +

3C

Watch Video Solution

30. If  and . Compute 

 B.

Watch Video Solution

A = [
sin θ −cos θ

cos θ sin θ
] B = [

cos θ sin θ

−sin θ cos θ
]

(sin θ)A + (cos θ)

31. If A, B, C are three matrices of the same order, then

.

Watch Video Solution

A = B ⇒ A + C = B + C

https://dl.doubtnut.com/l/_BdPL08MHsw9U
https://dl.doubtnut.com/l/_OHfql0d1MgiL
https://dl.doubtnut.com/l/_hlFifbqP9IVh
https://dl.doubtnut.com/l/_sFPvww3W11RH
https://dl.doubtnut.com/l/_zWtuavzyEqzp


32. If A,B,C are three matrices such that A + B = A + C, then prove

that B = C.

Watch Video Solution

33. Find the vale of (x+y) from the following equation: 

Watch Video Solution

2[
x 5

7 y − 3
] + [

3 −4

1 2
] = [

7 6

15 14
]

34. Find the matrix X such that 2A + B + X = O, where [(-1,2),

(3,4)] and B = [(3,-2),(1,5)]`

Watch Video Solution

A =

https://dl.doubtnut.com/l/_zWtuavzyEqzp
https://dl.doubtnut.com/l/_hfsRlyBfS1FQ
https://dl.doubtnut.com/l/_cjIr04yWK9Zn


35. If , then find the matrix

X, such that `2 A + 3 X = B.

Watch Video Solution

A =
⎡
⎢
⎣

8 0

4 −2

3 6

⎤
⎥
⎦

and B =
⎡
⎢
⎣

2 −2

4 2

−5 1

⎤
⎥
⎦

36. Find A and B if

.

Watch Video Solution

2A + 3B = [
1 −2 3

2 0 1
] and A − 2B = [

3 0 1

−1 6 2
]

37. Let . Show that 

Watch Video Solution

A = [
1 3 2

0 1 4
] and B =

⎡
⎢
⎣

1 4

0 1

2 3

⎤
⎥
⎦

AB ≠ BA

https://dl.doubtnut.com/l/_YbgqioABv2w8
https://dl.doubtnut.com/l/_amfuMzgd3UDU
https://dl.doubtnut.com/l/_VbMGviSfqobx


38. Let .

Verify that 

Watch Video Solution

A = [
1 0

2 3
], B = [

0 1 2

3 2 1
] and C =

⎡
⎢
⎣

1 0 4

−2 1 0

3 2 6

⎤
⎥
⎦

(AB)C = A(BC)

39. Taking

verify that A (B+C) = AB + AC.

Watch Video Solution

A = [
2 1 0

−3 −1 5
], B =

⎡
⎢
⎣

0 2 3

2 0 1

1 −1 4

⎤
⎥
⎦

and C =
⎡
⎢
⎣

−1 0 2

1 3 1

2 −1 3

⎤
⎥
⎦

40. Give examples of matrics A and B such that 

Watch Video Solution

AB ≠ BA

https://dl.doubtnut.com/l/_hNEpRE0FkPHK
https://dl.doubtnut.com/l/_ApCeuuDylbPB
https://dl.doubtnut.com/l/_pWoDSKB80QWL


41. Give an example of two matrices A and B such that AB =O when

neither A = O nor B = O

Watch Video Solution

42. Give an example of matrices A,B and C such that AB = AC but

.

Watch Video Solution

B ≠ C, A ≠ O

43. Give an example of matrices A,B and C such that AB = AC but

.

Watch Video Solution

B ≠ C, A ≠ O

https://dl.doubtnut.com/l/_qRvicTepU91l
https://dl.doubtnut.com/l/_n2SRoJZp0LcC
https://dl.doubtnut.com/l/_fDrveOlkA4eF


44. Evaluate the following products: 

Watch Video Solution

⎡
⎢
⎣

2

4

6

⎤
⎥
⎦

[123]

45. Evaluate the following products: 

Watch Video Solution

([
1 3

−1 −4
] + [

3 −2

−1 −1
])[

1 3 5

2 4 6
]

46. Evaluate the following products: 

Watch Video Solution

[
6 9

2 3
][

2 6 0

7 9 8
]

https://dl.doubtnut.com/l/_KCjnm9C49HPo
https://dl.doubtnut.com/l/_l8iOxTDOlIVr
https://dl.doubtnut.com/l/_oCEjg7eRmhUw


47. Evaluate the following 

Watch Video Solution

[xyz]
⎡
⎢
⎣

a h g

h b f

g f c

⎤
⎥
⎦

⎡
⎢
⎣

x

y

z

⎤
⎥
⎦

48. If , then show that ( A + I) ( A - 4 I) = O

Watch Video Solution

A = [
2 −2

−3 1
]

49. A  , verify that 

Watch Video Solution

=
⎡
⎢
⎣

0 0 1

0 1 0

1 0 0

⎤
⎥
⎦

A2 = I

50. If , verify that A =
⎡
⎢
⎣

0 0 0

1 0 0

0 1 0

⎤
⎥
⎦

A3 = O

https://dl.doubtnut.com/l/_onxGqrDrfCVo
https://dl.doubtnut.com/l/_TgCAnXEVGkyF
https://dl.doubtnut.com/l/_dO89rCNAEobT
https://dl.doubtnut.com/l/_xBpsFDrnBnJ0


Watch Video Solution

51. If A  then find 

Watch Video Solution

=
⎡
⎢
⎣

2 0 1

2 1 3

1 −1 0

⎤
⎥
⎦

A2 − 3A + 2I

52. If , then show that : 

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3

3 −2 1

4 2 1

⎤
⎥
⎦

A2 − 23A − 40I ≠ O

53. If , prove that  = 

+ .

Watch Video Solution

I = [
1 0

0 1
] and E = [

0 1

0 0
] (aI + bE)

3
a3I

3a2bE

https://dl.doubtnut.com/l/_xBpsFDrnBnJ0
https://dl.doubtnut.com/l/_TaMVK41auy6P
https://dl.doubtnut.com/l/_w5kaxsPqnAGh
https://dl.doubtnut.com/l/_wCvhDhR2Xxy7
https://dl.doubtnut.com/l/_j55VqJDPd2ql


54. If , then show that . Hence,

evaluate 

Watch Video Solution

A = [
2 3

−1 2
] A2 − 4A + 7I = O

A5.

55. If , then compute  without computing  and

higher powers of A.

Watch Video Solution

A = [
3 1

−1 2
] A5 A3

56. If  , then find k so that 

Watch Video Solution

A = [
3 −2

4 −2
] and I = [

1 0

0 1
]

A2 = kA − 2I

https://dl.doubtnut.com/l/_j55VqJDPd2ql
https://dl.doubtnut.com/l/_Qq8v0KohJuv9
https://dl.doubtnut.com/l/_NLuyNT02pU8s


57. Find the value of a and b for which the following holds : 

Watch Video Solution

[
a b

−a 2b
][

2

−1
] = [

5

4
]

58. If [2x,3] , find the value of 'x'.

Watch Video Solution

[
1 2

−3 0
][

x

8
] = O

59. Find x, if 

Watch Video Solution

[ x −5 −1 ]
⎡
⎢
⎣

1 0 2

0 2 1

2 0 3

⎤
⎥
⎦

⎡
⎢
⎣

x

4

1

⎤
⎥
⎦

= 0

60. Find the matrix X so that .

Watch Video Solution

X[
1 2 3

4 5 6
] = [

−7 −8 −9

2 4 6
]

https://dl.doubtnut.com/l/_0cc3ItHdXvqq
https://dl.doubtnut.com/l/_pwCyPW9V1FOt
https://dl.doubtnut.com/l/_op5VTx7YzQNr
https://dl.doubtnut.com/l/_FT1n7i6mEHdZ


61. Find A if 

Watch Video Solution

⎡
⎢
⎣

4

1

3

⎤
⎥
⎦
A =

⎡
⎢
⎣

−4 8 4

−1 2 1

−3 6 3

⎤
⎥
⎦

62. Let  Find a matrix D

such that
CD – AB = O.

Watch Video Solution

A = [
2 −1

3 4
], B = [

5 2

7 4
], C = [

2 5

3 8
]

63. If  find  and find a matrix 

such that 

Watch Video Solution

A =
⎡
⎢
⎣

2 0 1

2 1 3

1 −1 0

⎤
⎥
⎦

A2 − 5A + 4I X

A2 − 5A + 4I + X = O

https://dl.doubtnut.com/l/_FT1n7i6mEHdZ
https://dl.doubtnut.com/l/_F2EOol3mVoSO
https://dl.doubtnut.com/l/_bc6GIYOnErzz
https://dl.doubtnut.com/l/_L4GWc6hzmPwK
https://dl.doubtnut.com/l/_27j003G4fW1c


64. A trust fund has Rs. 30,000 that must be invested in two

different types of bonds.
 The first bond pays 5% interest per year,

and the second bond pays 7% interest
 per year. Using matrix

multiplication, determine how to divide Rs.30,000 among
 the two

types of bonds. If the trust fund must obtain an annual total

interest of: Rs.2000

Watch Video Solution

65. Three schools A, B and C organised a mela for collecting funds

for helping the rehabilitation of flood victims. They sold hand made

fans, mats and plates form recylced material at a cost of Rs. 25, Rs.

100 and Rs 50 each. The number of articles sold are given below: 

 Find the

https://dl.doubtnut.com/l/_27j003G4fW1c
https://dl.doubtnut.com/l/_5PWsQw70DuVq


funds collected by each school separately by selling the above

articles. Also find the total funds collected for the purpose.

Watch Video Solution

66. If , prove by induction that 

for all natural numbers n.

Watch Video Solution

A = [
1 1

1 1
] An = [

2n− 1 2n− 1

2n− 1 2n− 1
]

67. If , then prove by Mathematical Induction that : 

, where 

Watch Video Solution

A = (
3 −4

1 −1
)

An = (
1 + 2n −4n

n 1 − 2n
) n ∈ N

https://dl.doubtnut.com/l/_5PWsQw70DuVq
https://dl.doubtnut.com/l/_olT61KDnjZSR
https://dl.doubtnut.com/l/_0LgpYrGcarf6


68. If , prove (by inducton )

that  for all positive

integral n.

Watch Video Solution

A = [(cosα sinα), ( − sinα, cosα)]

An = [(cos nα, sinnα), ( − sinnα cos nα)]

69. f A and B are square matrices of the same order such that AB =

BA, then prove
 by induction that  Further, prove that 

 for all 

Watch Video Solution

ABn = BnA

(AB)n = AnBn n ∈ N

70. f A and B are square matrices of the same order such that AB =

BA, then prove
 by induction that  Further, prove that 

 for all 

Watch Video Solution

ABn = BnA

(AB)n = AnBn n ∈ N

https://dl.doubtnut.com/l/_JUBpDsYReUc5
https://dl.doubtnut.com/l/_0wxRzNiQ1aro
https://dl.doubtnut.com/l/_wDPMRv1cuTSK


71. If , then show that 

.

Watch Video Solution

F (θ) =
⎡
⎢
⎣

cos θ −sin θ 0

sin θ cos θ 0

0 0 1

⎤
⎥
⎦

F (θ)F (ϕ) = F (θ + ϕ)

72. Let A and B be square matries of the same type. Does

 hold? If not why?

Watch Video Solution

(A + B)2 = A2 + 2AB + B2

73. If A and B be square matrices of the same order such that BA=AB,

prove that : 

Watch Video Solution

(A + B)3 = A3 + 3A2B + 3AB2 + B3

https://dl.doubtnut.com/l/_wDPMRv1cuTSK
https://dl.doubtnut.com/l/_cmo4XcdoZCoW
https://dl.doubtnut.com/l/_UZK37KLQ2tdX
https://dl.doubtnut.com/l/_GVMAb9GCL3tG


74. If A is a square matrix such that , show that 

.

Watch Video Solution

A2 = A

(I + A)3 = 7A + I

75. Let  verify that 

Watch Video Solution

A = [
1 −2 3

0 4 7
] and B = [

0 4 2

2 −2 1
]

(A + B)
t

= At + Bt

76. Let  verify that 

Watch Video Solution

A = [
1 −2 3

0 4 7
] and B = [

0 4 2

2 −2 1
]

(2A)t = 2At

https://dl.doubtnut.com/l/_DDCqLN84UfKT
https://dl.doubtnut.com/l/_Z56UIR9LSOxG
https://dl.doubtnut.com/l/_jUtj82kWzaRJ


77. If , verify that (AB)' = B'A'

Watch Video Solution

A =
⎡
⎢
⎣

1 −2

3 0

5 6

⎤
⎥
⎦

, B = [
0 −3 4

1 2 0
]

78. If A  , then verify that (AB)' = B'A'

Watch Video Solution

=
⎡
⎢
⎣

−2

4

5

⎤
⎥
⎦

, B = [ 1 3 −6 ]

79. If A is any square matrix, prove that , where n is

any positive integer.

Watch Video Solution

(An)' = (A' )n

https://dl.doubtnut.com/l/_385jXZfsrfPc
https://dl.doubtnut.com/l/_lm77ni6GpjsX
https://dl.doubtnut.com/l/_oCZJdMRVCXFw


80. If , show that  is a skew symmetric

matrix, where  is the transpose of matrix A.

Watch Video Solution

A = [
3 −4

1 −1
] (A − AT )

AT

81. Express  as the sum of symmetric and skew-symetric

matrices.

Watch Video Solution

[
3 −4

1 −1
]

82. Express  as the sum of a symmetric and a skew-

symmetric matrix.

Watch Video Solution

⎡
⎢
⎣

2 4 −1

3 5 8

1 −2 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_NnWP7nRrt3bg
https://dl.doubtnut.com/l/_MQyJNNHdvZ1R
https://dl.doubtnut.com/l/_Pl96QfOD4RRO


83. If A and B are symmetric matrices of the same order, then show

that AB
is symmetric if and only if A and B commute, that is AB = BA.

Watch Video Solution

84. If A and B are square matrices of the same order and A is skew-

symmetric, prove that  is also skew symmetric.

Watch Video Solution

BtAB

85. If A is a skew symmetric matrix, then show that  is symmetric

if n is even and  is skew symmetric if n is odd, .

Watch Video Solution

An

An n ∈ N

https://dl.doubtnut.com/l/_C80zxuCJbM0R
https://dl.doubtnut.com/l/_Exxy1dqxqnub
https://dl.doubtnut.com/l/_ImGhNK7v3Uk3


86. Verify that the matrix  is inverse of the matrix 

Watch Video Solution

[(2, 3), 3, 4)]

[ − 4, 3), (3, − 2)]

87. Inverse of  is

Watch Video Solution

f(x) =
⎡
⎢
⎣

cos x sinx 0

−sinx cos x 0

0 0 1

⎤
⎥
⎦

88. Show that  is inverse of the matrix 

Watch Video Solution

⎡
⎢
⎣

2 −1 3

−5 3 1

−3 2 3

⎤
⎥
⎦

⎡
⎢
⎣

−7 −9 10

−12 −15 17

1 1 −1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_ItPxeKG9u1EV
https://dl.doubtnut.com/l/_DpmfxOKEYqCs
https://dl.doubtnut.com/l/_RxDmOrHs9NWE


89. If , prove thst  and hence,

obtain .

Watch Video Solution

A =
⎡
⎢
⎣

1 2 2

2 1 2

2 2 1

⎤
⎥
⎦

A2 − 4A − 5I = O

A− 1

90. By using elementary row transformations, find the inverse of the

matrix A if it exists, where 

Watch Video Solution

A = [
1 2

2 −1
]

91. By using elementary row transformations, find the inverse of the

matrix A if it exists, where 

Watch Video Solution

A = [
2 1

4 2
]

https://dl.doubtnut.com/l/_xtrMmxAiH8cb
https://dl.doubtnut.com/l/_hnjQW31QgLQz
https://dl.doubtnut.com/l/_VVDcLbj2b8qa


92. By using elementary row transformations, find the inverse of the

matrix A if it exists, where 

Watch Video Solution

A = [
10 −2

−5 1
]

93. By using elementary row transformations, find , where 

Watch Video Solution

A− 1

A =
⎡
⎢
⎣

0 1 2

1 2 3

3 1 1

⎤
⎥
⎦

94. By using elementary row transformations, find , where 

Watch Video Solution

A− 1

⎡
⎢
⎣

2 −1 4

4 0 2

3 −2 7

⎤
⎥
⎦

https://dl.doubtnut.com/l/_VVDcLbj2b8qa
https://dl.doubtnut.com/l/_OQo257VOGMbL
https://dl.doubtnut.com/l/_Qw3tFQu0MvCI
https://dl.doubtnut.com/l/_0cZdDHziXv6O


Exercise

1. IF a matrix has 12 elements, what are the possible orders it has 7

elements?

Watch Video Solution

2. Give an examples of a matrix which is a row as well as a column

matrix.

Watch Video Solution

3. Give an example of a matrix which is a scalar matrix which is not a

unit matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_0cZdDHziXv6O
https://dl.doubtnut.com/l/_SETOh1QgurSc
https://dl.doubtnut.com/l/_WPXKPETZIPc0
https://dl.doubtnut.com/l/_H1G4uEDQwIZP


4. Give an example of a matrix which is a diagonal matrix which is

not a scalar matrix.

Watch Video Solution

5. Classify the following matries: 

Watch Video Solution

[1 + I − 3√2i]

6. Classify the following matries: 

Watch Video Solution

[
√2 0

√3 2
]

https://dl.doubtnut.com/l/_H1G4uEDQwIZP
https://dl.doubtnut.com/l/_LDqLLAOWFFqG
https://dl.doubtnut.com/l/_6KM7vOHwDLzH
https://dl.doubtnut.com/l/_7ltzle2CicLO


7. Classify the following matries: 

Watch Video Solution

[
2 0 3 5

0 1 −1 2
]

8. Classify the following matries: 

Watch Video Solution

[
−2 0

0 1
]

9. Classify the following matries: 

Watch Video Solution

⎡
⎢
⎣

0 2 2

2 0 2

2 2 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_EAG4Ayte2Kom
https://dl.doubtnut.com/l/_T2hBtxAw0XuX
https://dl.doubtnut.com/l/_8G6RqyS4TzUl


10. Classify the following matries: 

Watch Video Solution

⎡
⎢⎢⎢⎢
⎣

4 0 0 0

0 4 0 0

0 0 4 0

0 0 0 4

⎤
⎥
⎥
⎥
⎥
⎦

11. Classify the following matries: 

Watch Video Solution

[(1, 0, 0, 0), (0, 1, 0, 0), (0, 0, 1, 0), (0, 0, 01)]

12. Classify the following matries: 

Watch Video Solution

⎡
⎢⎢⎢⎢
⎣

2 − i

−3

0

6

⎤
⎥
⎥
⎥
⎥
⎦

https://dl.doubtnut.com/l/_VvOYmFycli5X
https://dl.doubtnut.com/l/_4ySp7QExIIui
https://dl.doubtnut.com/l/_PslvzICaS7lz


13. Construct a  matrix  for which 

Watch Video Solution

2x3 A = [aij] aij = i + j

14. Construct a  matrix  for which 

Watch Video Solution

2 × 3 A = [aij]2 × 3
aij = i − j

15. Construct a  matrix  for which 

Watch Video Solution

2 × 3 A = [a if ] aij =
i

j

16. Construct a  matrix  such that 

Watch Video Solution

3 × 5 B = [bij] bij = i + j

https://dl.doubtnut.com/l/_mSYwn8AdgLbX
https://dl.doubtnut.com/l/_Ctzn5kOQbF0J
https://dl.doubtnut.com/l/_PdhwB0Z4jY9z
https://dl.doubtnut.com/l/_bJiCUZcWfnD4


17. Construct a  matrix  such that 

Watch Video Solution

3 × 5 B = [bij] bij = i − j

18. Construct a  matrix  such that 

Watch Video Solution

3 × 5 B = [bij] bij = = ij

19. Construct a  matrix  such that 

Watch Video Solution

3 × 5 B = [bij] bij = =
i

j

20. If , find x , y , z and w.

Watch Video Solution

[
x − y z

2x − y w
] = [

−1 4

0 5
]

https://dl.doubtnut.com/l/_EQQAubhxkae4
https://dl.doubtnut.com/l/_xcEtndyJxyiW
https://dl.doubtnut.com/l/_N2JxlyM3d22F
https://dl.doubtnut.com/l/_7rMHx7LsiDXV
https://dl.doubtnut.com/l/_YSzAUuHEFWyH


21. If , find a, b, c and d.

Watch Video Solution

[
a 3a − b

2a + c 3b − d
] = [

3 2

4 7
]

22. If , find the values of a and b.

Watch Video Solution

[
a + b 2

5 ab
] = [

6 2

5 8
]

23. Find the values of x,y,z and w from the following equation :

Watch Video Solution

[
x − y 2x + z

2x − y 3z + w
] = [

−1 5

0 13
]

24. If , find the values of a and

b.

Watch Video Solution

[
a + 4 3b

8 −6
] = [

2a + 2 b2 + 2

8 b2 − 5b
]

https://dl.doubtnut.com/l/_YSzAUuHEFWyH
https://dl.doubtnut.com/l/_8uPmOdCpmcgw
https://dl.doubtnut.com/l/_bSd0PN8o36Wb
https://dl.doubtnut.com/l/_gKCIQcjWVCfF


25. Find x,y, a and b if 

.

Watch Video Solution

[
2x + 3y a + b 8

1 4x + y 3a − 4b
] = [

7 1 8

1 9 10
]

26. Given an example of three matrices A, B and C of the same type

for which 

Watch Video Solution

(A − B) + C ≠ A − (B + C)

27. Let

.

Verify that (A+B) + C = A + (B+C)`

Watch Video Solution

A = [
1 −2 0

−1 3 5
], B = [

0 1 2

2 0 1
] and C = [

2 −1 3

0 1 4
]

https://dl.doubtnut.com/l/_gKCIQcjWVCfF
https://dl.doubtnut.com/l/_I42vL2QSSTUl
https://dl.doubtnut.com/l/_5hSfetPgO94F
https://dl.doubtnut.com/l/_TIZo07hT7fh0
https://dl.doubtnut.com/l/_WfJTZuZyT6K4


28. If

, verify that (A+B)+C=A+(B+C)

Watch Video Solution

A =
⎡
⎢
⎣

1 3 2

2 0 −1

1 −1 0

⎤
⎥
⎦

, B =
⎡
⎢
⎣

2 1 6

−1 0 3

4 2 −1

⎤
⎥
⎦

and C =
⎡
⎢
⎣

−3 6 1

0 2 −1

4 5 2

⎤
⎥
⎦

29. Let  Find each of

the following : 

2A + B

Watch Video Solution

A = [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

30. Let  Find each of

the following : 

3 A - B - C

Watch Video Solution

A = [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

https://dl.doubtnut.com/l/_WfJTZuZyT6K4
https://dl.doubtnut.com/l/_u0UQtuCdfZfs
https://dl.doubtnut.com/l/_lPtJAdSi6S83


Watch Video Solution

31. Evaluate the following: 

Watch Video Solution

∣
∣
∣

a b

−b a

∣
∣
∣

32. Evaluate the following: 

Watch Video Solution

[
1 + i 0

2 2 − 3i
] − [

i −1

3 + i 2i
]

33. Compute the following: :

Watch Video Solution

[
a2 + b2 b2 + c2

a2 + c2 a2 + b2
] + [

2ab 2bc

−2ac −2ab
]

https://dl.doubtnut.com/l/_lPtJAdSi6S83
https://dl.doubtnut.com/l/_dtTaz1qqy90T
https://dl.doubtnut.com/l/_0KOSYMyHjae6
https://dl.doubtnut.com/l/_fcAwvuPooZmh
https://dl.doubtnut.com/l/_bJTBf58hmjmp


34. If  find 2 A + 3 B -

4 C

Watch Video Solution

A = [
5 3

4 2
], B = [

1 1

−1 2
], C = [

−3 2

−7 5
]

35. If , find 2 A - 3 B.

Watch Video Solution

A =
⎡
⎢
⎣

3 8 0

1 6 7

0 2 −5

⎤
⎥
⎦

and B =
⎡
⎢
⎣

−1 6 9

3 0 4

2 3 11

⎤
⎥
⎦

36. If A is any matrix and k any scalar, then prove that (-k) A = -(kA) =

K(-A)

Watch Video Solution

37. If A and B are matrices of the same order, then prove that -(A + B)

= -A - B

https://dl.doubtnut.com/l/_bJTBf58hmjmp
https://dl.doubtnut.com/l/_XqrXaajBNdxY
https://dl.doubtnut.com/l/_CnH37o8UDoY2
https://dl.doubtnut.com/l/_xM9VfiZnRveH


Watch Video Solution

38. Find x and y if 

Watch Video Solution

2[
1 3

0 x
] + [

y 0

1 2
] = [

5 6

1 8
]

39. Find x, y if 

Watch Video Solution

3[
4 2

1 3
] − 2[

−2 1

3 2
] + [

x −4

3 y
] = 0

40. Find the vlaues of a,b,c and d if

Watch Video Solution

3[
a b

c d
] = [

a 6

−1 2d
] + [

4 a + b

c + d 3
]

https://dl.doubtnut.com/l/_xM9VfiZnRveH
https://dl.doubtnut.com/l/_UW1mWO4YgBMj
https://dl.doubtnut.com/l/_mEvtwMFw8Tqg
https://dl.doubtnut.com/l/_W9Q7BQsRJBvF


41. Find non-zero values of 'x', satisfying the matrix equation: 

Watch Video Solution

x[
2x 2

3 x
] + 2[

8 5x

4 4x
] = 2[

x2 + 8 24

10 6x
]

42. If , find the matrix C

such that A +B + C is a zero matrix.

Watch Video Solution

A = [
1 −3 2

2 0 2
], B = [

2 −1 −1

1 0 −1
]

43. If , find the matrix C such that

3 A + 5 B + 2 C is a null matrix.

Watch Video Solution

A = [
7 8

1 9
] and B = [

7 12

5 1
]

https://dl.doubtnut.com/l/_88AUhSx3PxBT
https://dl.doubtnut.com/l/_tVnGPrvOcl4w
https://dl.doubtnut.com/l/_xl4gkMBcDDfS


44. Find the matrix 'X' and 'Y' if:

Watch Video Solution

2X + 3Y = [
2 3

4 0
] and 3X − 2Y = [

2 −2

−1 5
]

45. Find X and Y if  and 

Watch Video Solution

X + Y = [
5 2

0 9
] X = Y = [

3 6

0 −1
]

46. Find a matrix X such that 2A - B + X = O, where A =

Watch Video Solution

[
3 1

0 2
], B = [

−2 1

0 3
]

47. Find the matrix A so that .

W h Vid S l i

[
1 2 −3

0 4 1
] + A = [

3 5 6

−1 0 3
]

https://dl.doubtnut.com/l/_KrdNjSRwPrWz
https://dl.doubtnut.com/l/_fbPvfrnQADed
https://dl.doubtnut.com/l/_LGCcrlWPoojS
https://dl.doubtnut.com/l/_DobUigEgR91y


Watch Video Solution

48. Find matrices X and Y is 

Watch Video Solution

2X − Y = [
6 −6 0

−4 2 1
] and X + 2Y = [

3 2 5

−2 1 7
]

49. If , find A

and B.

Watch Video Solution

A − B =
⎡
⎢
⎣

1 1 1

1 1 0

1 0 0

⎤
⎥
⎦

and A + B =
⎡
⎢
⎣

3 5 7

−1 1 4

11 8 0

⎤
⎥
⎦

50. If , find the matrix C such that

5 A + 3 B + 2 C is a null matrix.

Watch Video Solution

A = [
9 1

7 8
] and B = [

1 5

7 12
]

https://dl.doubtnut.com/l/_DobUigEgR91y
https://dl.doubtnut.com/l/_TeA5eCBPEf9a
https://dl.doubtnut.com/l/_hnZ14c8mpAMY
https://dl.doubtnut.com/l/_OCZ4DEFckpQX


51. Two farmers Ramkishan and Gurcharan singh cultivate only the

varieties of rice namely Basmati, Permal and Naura. The sales (in

Rupees) of these varieties of rice by both the farmers in the months

of September and October are given by the following matrices A and

B. 

 Find the

combined sales in September and October for each farmer in each

variety.

Watch Video Solution

52. Two farmers Ramkishan and Gurcharan singh cultivate only the

varieties of rice namely Basmati, Permal and Naura. The sales (in

Rupees) of these varieties of rice by both the farmers in the months

of September and October are given by the following matrices A and

B. 

https://dl.doubtnut.com/l/_ETkVA8s9MWOk
https://dl.doubtnut.com/l/_ORgvKYW5cwH3


 Find the

decrease in sales from September to october.

Watch Video Solution

53. Two farmers Ramkishan and Gurcharan singh cultivate only the

varieties of rice namely Basmati, Permal and Naura. The sales (in

Rupees) of these varieties of rice by both the farmers in the months

of September and October are given by the following matrices A and

B. 

If both

farmers receive 2% profit on gross sales, compute the profit for each

farmer and for each variety solid on October.

Watch Video Solution

https://dl.doubtnut.com/l/_ORgvKYW5cwH3
https://dl.doubtnut.com/l/_D7iE5xiKbhfK
https://dl.doubtnut.com/l/_YCebME9CBEOv


54. Taking , verify that (A+B)' = A'+B'

Watch Video Solution

A = [
1 3

2 4
] and B = [

1 4

2 5
]

55. Taking , verify that (AB)' = B'A'

Watch Video Solution

A = [
1 3

2 4
] and B = [

1 4

2 5
]

56. Taking , verify that (2A)' = 2A'

Watch Video Solution

A = [
1 3

2 4
] and B = [

1 4

2 5
]

57. If , verify that (AB)' = B'A'

Watch Video Solution

A =
⎡
⎢
⎣

3

5

2

⎤
⎥
⎦

, B = [ 1 0 4 ]

https://dl.doubtnut.com/l/_YCebME9CBEOv
https://dl.doubtnut.com/l/_JV6Bp0ukaNMF
https://dl.doubtnut.com/l/_3NRWWXtA8f9p
https://dl.doubtnut.com/l/_d5VUn7ijVhCe
https://dl.doubtnut.com/l/_13fPUEZxzjEr


58. If , then verify that : 


(A+B)'=A'+B'

Watch Video Solution

A = [
3 √3 2

4 2 0
] and B = [

2 −1 2

1 2 4
]

59. If . Find (AB)'

Watch Video Solution

A = [
2 4 −1

−1 0 2
], B =

⎡
⎢
⎣

3 4

−1 2

2 1

⎤
⎥
⎦

60. For the matrices A and B, ,

verify that (AB)' = B'A'

Watch Video Solution

A = [
2 1 3

4 1 0
], B =

⎡
⎢
⎣

1 −1

0 2

5 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_13fPUEZxzjEr
https://dl.doubtnut.com/l/_0mB0XuvSJRMT
https://dl.doubtnut.com/l/_Y9Fyj4EFuYbU


61. If , verify that (AB)' = B'A'.

Watch Video Solution

A = [
5 1 1

2 3 0
], B =

⎡
⎢
⎣

2 3

−1 1

4 0

⎤
⎥
⎦

62. If , verify that 

Watch Video Solution

A = [
cosα sinα

−sinα cosα
] AA' = I2 = A'A

63. If , find  satisfying 

when , where  is transpose of A.

Watch Video Solution

A = (
cosα sinα

−sinα cosα
) 'α' 0 < alpa <

π

2

A + AT = √2I2 AT

https://dl.doubtnut.com/l/_2szvmwfrSG3W
https://dl.doubtnut.com/l/_ExetT7TLi0V8
https://dl.doubtnut.com/l/_22hfKMfJqO58


64. If , verify that

(BA)' = A'B'

Watch Video Solution

A = [
−1 2 −3

4 −5 6
] and B =

⎡
⎢
⎣

3 −4

2 1

−1 0

⎤
⎥
⎦

65. if  is a matrix satisfying  find the

value of 

Watch Video Solution

A =
⎡
⎢
⎣

1 2 3

2 1 −1

a 2 b

⎤
⎥
⎦

AA' = 9l3 ,

|a| + |b|.

66. Express the matrix  as the sum of a symmetric and a

skew-symmetric and a skew-symmetric matrix.

Watch Video Solution

[
2 3

−7 5
]

https://dl.doubtnut.com/l/_vo52FEgAEX7l
https://dl.doubtnut.com/l/_vRmi4GTuVNAA
https://dl.doubtnut.com/l/_awB7AdMWaNWu
https://dl.doubtnut.com/l/_w48pSxp8jKMb


67. If , then express A as the sum of a symmetric and a

skew-symmetric matrix.

Watch Video Solution

A = [
p q

r s
]

68. show that the matrix 

 is idempotent.

Watch Video Solution

A =
⎡
⎢
⎣

2 −2 −4

−1 3 4

1 −2 −3

⎤
⎥
⎦

69. Express each of the matrices  as the sum of a

symmetric and a skew-symmetric matrix.

Watch Video Solution

⎡
⎢
⎣

6 3 −2

5 7 9

4 7 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_w48pSxp8jKMb
https://dl.doubtnut.com/l/_AItTL4kiVVeP
https://dl.doubtnut.com/l/_rPHpdMTBYtGl


70. If A and B are symmetric matrices of the same order. Show that

A-B is also symmetric.

Watch Video Solution

71. If A and B are skew-symmetric matrices of the same order. Show

that A-B is also skew-symmetric.

Watch Video Solution

72. If A is any square matrix, show that  is symmetric

and  is skew-symmetric.

Watch Video Solution

(A + A' )
1

2

(A − A' )
1

2

https://dl.doubtnut.com/l/_TiKegG45QWz2
https://dl.doubtnut.com/l/_8uWNqIyXtH03
https://dl.doubtnut.com/l/_X9FbAEViCZZI


73. If A and B are square matrices of the same order and A is

symmetric, then show that  is also symmetric.

Watch Video Solution

BtAB

74. If A is a symmetric matrix, prove that  is also symmetric for all

positive integral n.

Watch Video Solution

An

75. Verify that  is inverse of the matrix 

Watch Video Solution

[
2 3

5 7
] [

−7 3

5 −2
]

76. Verify that  and  are inverse of

each other.

[
cos θ sin θ

−sin θ cos θ
] [

cos θ −sin θ

sin θ cos θ
]

https://dl.doubtnut.com/l/_pBtnEVhEH8Kn
https://dl.doubtnut.com/l/_4tDsTDntYLoI
https://dl.doubtnut.com/l/_aIi5JOjlksDp
https://dl.doubtnut.com/l/_2WJjJBcJEVXk


Watch Video Solution

77. Verify that the matrix  is the inverse of the

matrix 

Watch Video Solution

⎡
⎢
⎣

7 −3 −3

−1 1 0

−1 0 1

⎤
⎥
⎦

⎡
⎢
⎣

1 3 3

1 4 3

1 3 4

⎤
⎥
⎦

78. If  then the matrix  is

Watch Video Solution

A = [
3 1

−1 2
] A2 − 5A + 8I

79. If Matrix , then show that 

and hence find  from this equation.

Watch Video Solution

A = [
5 3

−1 −2
] A2 − 3A − 7I = 0

A− 1

https://dl.doubtnut.com/l/_2WJjJBcJEVXk
https://dl.doubtnut.com/l/_dO4WIzPFdWfl
https://dl.doubtnut.com/l/_hIsAEbutjZsp
https://dl.doubtnut.com/l/_74lix89mVzkQ


80. Using the elementary row operations, find the inverse of each of

the following matrices: 

Watch Video Solution

[
1 2

3 7
]

81. Using the elementary row operations, find the inverse of each of

the following matrices: 

Watch Video Solution

[
2 1

7 4
]

82. Using the elementary row operations, find the inverse of each of

the following matrices: 

W h Vid S l i

[
1 3

−5 7
]

https://dl.doubtnut.com/l/_74lix89mVzkQ
https://dl.doubtnut.com/l/_tXMuR28AqxU9
https://dl.doubtnut.com/l/_K3LXhZdGfXZQ
https://dl.doubtnut.com/l/_fIDx02PQ1bBQ


Watch Video Solution

83. Using the elementary row operations, find the inverse of each of

the following matrices: 

Watch Video Solution

[
1 −3

−2 6
]

84. Using the elementary row operations, find the inverse of each of

the following matrices: 

Watch Video Solution

⎡
⎢
⎣

1 2 2

2 1 2

2 2 1

⎤
⎥
⎦

85. Using the elementary row operations, find the inverse of each of

the following matrices: 

https://dl.doubtnut.com/l/_fIDx02PQ1bBQ
https://dl.doubtnut.com/l/_5rbItcotsiGd
https://dl.doubtnut.com/l/_Smn031eYAdzl
https://dl.doubtnut.com/l/_GJ0wnAof8nJY


Watch Video Solution

⎡
⎢
⎣

1 3 3

1 4 3

1 3 4

⎤
⎥
⎦

86. Using the elementary row operations, find the inverse of each of

the following matrices: 

Watch Video Solution

⎡
⎢
⎣

2 −1 3

−5 3 1

−3 2 3

⎤
⎥
⎦

87. Using the elementary row operations, find the inverse of each of

the following matrices: 

Watch Video Solution

⎡
⎢
⎣

1 2 −2

−1 3 0

0 −2 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_GJ0wnAof8nJY
https://dl.doubtnut.com/l/_Lr22VyiZz3TL
https://dl.doubtnut.com/l/_3cXW4Zis1Bq1


88. Using the elementary row operations, find the inverse of each of

the following matrices: 

Watch Video Solution

⎡
⎢
⎣

2 0 −1

5 1 0

0 1 3

⎤
⎥
⎦

89. Using the elementary row operations, find the inverse of each of

the following matrices: 

Watch Video Solution

⎡
⎢
⎣

1 2 3

2 5 7

−2 −4 −5

⎤
⎥
⎦

90. Using the elementary row operations, find the inverse of each of

the following matrices: 

https://dl.doubtnut.com/l/_lA5oiY9jQVbN
https://dl.doubtnut.com/l/_rTZnhMJt2y9a
https://dl.doubtnut.com/l/_rbfv72CMDI5n


Watch Video Solution

⎡
⎢
⎣

1 2 −2

−1 3 0

0 −2 1

⎤
⎥
⎦

91. If A is of order  and A + B is defined, then what is the order

of B?

Watch Video Solution

3 × 4

92. If  , find x and y.

Watch Video Solution

[
x + y 2

−1 2x − y
] = [

4 2

−1 5
]

93. Write down the identity matrix of order 2.

Watch Video Solution

https://dl.doubtnut.com/l/_rbfv72CMDI5n
https://dl.doubtnut.com/l/_FDIJxDjg4Y6w
https://dl.doubtnut.com/l/_z427gDoGtOI2
https://dl.doubtnut.com/l/_HFP9xr2SDhQN


94. If S it the set of all  matrices then find the identity element

of the addition operation on s.

Watch Video Solution

2 × 2

95. Compute the product 

Watch Video Solution

[x, y][
x

y
]

96. If A and B are square matrices of the same order, compute (A+B).

(A-B)

Watch Video Solution

97. If A and B are square matrices of the same order such that AB =

BA, then compute (2A + B) (A + 2 B).

https://dl.doubtnut.com/l/_lNuL1zUxKL3j
https://dl.doubtnut.com/l/_QWSMDZAlimi9
https://dl.doubtnut.com/l/_OGA1cT8XldMk
https://dl.doubtnut.com/l/_jULz4vt0voWb


Watch Video Solution

98. Let S be the set of all  matrices. What is the identity

element of the multiplication operation on S?

Watch Video Solution

2 × 2

99. If , evaluate 

Watch Video Solution

A = [
1 1

0 1
] A3

100. If A is of order . Is it possible to compute ?

Watch Video Solution

2 × 3 A2

101. Find x if [
x2

9
] − 3[

x

9
] = [

−2

−18
]

https://dl.doubtnut.com/l/_jULz4vt0voWb
https://dl.doubtnut.com/l/_g6xQISQzbRDk
https://dl.doubtnut.com/l/_hEL3IycIySR1
https://dl.doubtnut.com/l/_UA0q3f0M2Uj5
https://dl.doubtnut.com/l/_A3oo0Wj8nIvJ


Watch Video Solution

102. Find  if A

Watch Video Solution

A2 = [
cosα sinα

−sinα cosα
]

103. If A = [1 2 3], evaluate .

Watch Video Solution

At

104. if A = [a b c], evaluate .

Watch Video Solution

ATA

105. If  is a symmetric matrix, find x,y.A =
⎡
⎢
⎣

1 2 −1

x 3 y

−1 6 4

⎤
⎥
⎦

https://dl.doubtnut.com/l/_A3oo0Wj8nIvJ
https://dl.doubtnut.com/l/_KDkmKzCLxiIR
https://dl.doubtnut.com/l/_YV5Q8kBj6csi
https://dl.doubtnut.com/l/_vVgZ5e1YJpAN
https://dl.doubtnut.com/l/_o43XWzeelgTH


Watch Video Solution

106. If A is a skew symmetric matrix of order 3, write down its (2,2)th

element.

Watch Video Solution

107. If , find 

Watch Video Solution

A = [
1 2

2 4
] A− 1

108. If , find 

Watch Video Solution

A = [
3 5

1 2
] A− 1

https://dl.doubtnut.com/l/_o43XWzeelgTH
https://dl.doubtnut.com/l/_07lY3cE5JSvU
https://dl.doubtnut.com/l/_9tJktS3BY8LQ
https://dl.doubtnut.com/l/_tuE3gm0wuz2U


109. If A of order , state whether  is symmetric or

skew symmetric.

Watch Video Solution

2 × 2 (A + AT )
1

2

110. If , compute 

Watch Video Solution

A = [
1 1

1 1
] A3

111. If , compute 2A - B.

Watch Video Solution

A = [
1 2

−3 0
] and B = [

0 1

2 3
]

112. If , evaluate 

.

Watch Video Solution

A = [
cos θ sin θ

−sin θ cos θ
] and B = [

sin θ −cos θ

cos θ sin θ
]

A cos θ + B sin θ

https://dl.doubtnut.com/l/_9n5vj15xwKLv
https://dl.doubtnut.com/l/_IjNQIGLtzKFM
https://dl.doubtnut.com/l/_T6Fshehscn6f
https://dl.doubtnut.com/l/_5czgD3l7BGAL


Watch Video Solution

113. Find the matrix X such that A + 2 B + X = O, where

Watch Video Solution

A = [
3 −2

1 5
] and B = [

−1 2

3 4
]

114. Write down a scalar matrix of order 2 whose (2,2)th entry is -1.

Watch Video Solution

115. Give an example of a  lower triangular matrix.

Watch Video Solution

3 × 3

https://dl.doubtnut.com/l/_5czgD3l7BGAL
https://dl.doubtnut.com/l/_FYrToueZvX4y
https://dl.doubtnut.com/l/_mkN8VLL9gVaf
https://dl.doubtnut.com/l/_3AGwXRTgieGs


116. If A is of order , what is the number of elements in a row of

A?

Watch Video Solution

5 × 3

117. If A is of order , find the number of elements in a column

of A.

Watch Video Solution

m × n

118. If A is of order  and both A + B and AB are defined, find m.

Watch Video Solution

m × 2

119. Write the diagonal of the matrix .A =
⎡
⎢
⎣

1 0 2

2 0 3

3 6 4

⎤
⎥
⎦

https://dl.doubtnut.com/l/_CxmyueyzJZik
https://dl.doubtnut.com/l/_sJ1NJCG2GKLo
https://dl.doubtnut.com/l/_Ed5sY8o52jPQ
https://dl.doubtnut.com/l/_DDmzOY2BWA68


Watch Video Solution

120. Find the number of all possible matrices of order  with

entries 0,1 or 2.

Watch Video Solution

2 × 2

121. If

,

then which of the sums A+B,B+C, C+D and B+D is defined?

Watch Video Solution

A = [
2 3

1 2
], B = [

1 3 2

4 3 1
], C = [

1

2
] and D = [

4 6 8

5 7 9
]

122. If A  invertible matrix, then show that for any scalar 'k'

(non-zero), kA is invertible and 

Watch Video Solution

3 × 3

(kA)
− 1

= A− 11

k

https://dl.doubtnut.com/l/_DDmzOY2BWA68
https://dl.doubtnut.com/l/_QClchfoL8MlR
https://dl.doubtnut.com/l/_Ku9tTDmsvxKV
https://dl.doubtnut.com/l/_XTqaIUCRHOJ4


123. If [2x,3] , find the value of 'x'.

Watch Video Solution

[
1 2

−3 0
][

x

8
] = O

124. If , verify that PQ = QP = 

Watch Video Solution

P =
⎡
⎢
⎣

x 0 0

0 y 0

0 0 z

⎤
⎥
⎦

and Q =
⎡
⎢
⎣

a 0 0

0 b 0

0 0 c

⎤
⎥
⎦

⎡
⎢
⎣

xa 0 0

0 yb 0

0 0 zc

⎤
⎥
⎦

125. Find x,y if 

Watch Video Solution

x[
2

1
] + y[

3

5
] − [

−8

−11
] = O

https://dl.doubtnut.com/l/_XTqaIUCRHOJ4
https://dl.doubtnut.com/l/_Hac2WNifhfSE
https://dl.doubtnut.com/l/_SuvPUMmkp1od
https://dl.doubtnut.com/l/_zTgXquBPdMOI


126. If possible , find the sum of the matrices of A and B, where

Watch Video Solution

A = [
√3 1

2 3
] and b = [

x y z

a b c
]

127. If , then for what value of , is A an

identity matrix?

Watch Video Solution

A = [
cosα −sinα

sinα cosα
] α

128. If , then write the value of 'k'

Watch Video Solution

(
1 2

3 4
), (

3 1

2 5
), = (

7 11

k 23
)

129. If , write  in terms of A.

W t h Vid S l ti

A = [(2, 3), (5, − 2) A− 1

https://dl.doubtnut.com/l/_bFaUowVjDMat
https://dl.doubtnut.com/l/_rkRovSfjIP7Q
https://dl.doubtnut.com/l/_Bx0VTlxFO3k9
https://dl.doubtnut.com/l/_WRIOpIowjLfG


Watch Video Solution

130. If A is a square matrix such that , then write the value of

, where I is an identity matrix.

Watch Video Solution

A2 = A

7A − (I + A)3

131. Solve the following equations for x : 

Watch Video Solution

[x1][
1 0

−2 0
] = 0

132. Find x, if any such that 

Watch Video Solution

[
3 4

−1 x
] = [

0 x + 2

−1 2
]

https://dl.doubtnut.com/l/_WRIOpIowjLfG
https://dl.doubtnut.com/l/_i0lm4brmGQZs
https://dl.doubtnut.com/l/_v1LOYkz5DfvE
https://dl.doubtnut.com/l/_hZS0yh3j6o2B


133. If  write the value of 

b .

Watch Video Solution

[
a + 4 3b

8 −6
] = [

2a + 2 b + 2

8 a − 8b
] a − 2

134. If matrix , then write the value

of `lambda'.

Watch Video Solution

A = [
2 −2

−2 2
] and A2 = λA

135. If , write the value of x + y + z.

Watch Video Solution

[
xy 4

z + 6 x + y
] = [

8 w

0 6
]

https://dl.doubtnut.com/l/_Xce6iATJK9sM
https://dl.doubtnut.com/l/_IV7FxIWE8r0F
https://dl.doubtnut.com/l/_Grhzu5NajrWA


136. In the matrix , write: The order of

the matrix.

Watch Video Solution

A =
⎡
⎢
⎢
⎣

2 5 19 −7

35 −2 12

√3 1 −5 17

⎤
⎥
⎥
⎦

5
2

137. In the matrix , write:The number of

elements.

Watch Video Solution

A =
⎡
⎢
⎢
⎣

2 5 19 −7

35 −2 12

√3 1 −5 17

⎤
⎥
⎥
⎦

5
2

138. In the matrix , write: write the

elements 

Watch Video Solution

A =
⎡
⎢
⎢
⎣

2 5 19 −7

35 −2 12

√3 1 −5 17

⎤
⎥
⎥
⎦

5
2

a13, a21, a33, a24, a23

https://dl.doubtnut.com/l/_GAIkKaP8yCqG
https://dl.doubtnut.com/l/_Dj1bmbTeM4e6
https://dl.doubtnut.com/l/_uB3VuTNeAjUH


139. If a matrix has 24 elements, what are the possible orders it can

have? What, if it
has 13 elements?

Watch Video Solution

140. If a matrix has 18 elements, what are the possible orders it can

have? What, if it
has 5 elements?

Watch Video Solution

141. Construct a  matrix, . Whose elements are given

by : 

Watch Video Solution

2 × 2 A = [Aij]

Aij =
(i + j)

2

2

https://dl.doubtnut.com/l/_Fb9ZeKfgPy0m
https://dl.doubtnut.com/l/_JtI7IuahfLFB
https://dl.doubtnut.com/l/_Nk6VcAleTbME


142. Construct  matrix  whose elements are given

by 

Watch Video Solution

a2 × 2 A = [aij]

aij =
i

j

143. Construct a  matrix  whose elements are given

by: 

Watch Video Solution

2 × 2 A = [aij]

aij =
(i + 2j)2

2

144. Construct a  matrix, whose elements are given by: 

Watch Video Solution

3 × 4

aij = | − 3i + j|
1

2

https://dl.doubtnut.com/l/_6o2QSpAwxsYI
https://dl.doubtnut.com/l/_1szEJ1QYbcSJ
https://dl.doubtnut.com/l/_OQXsEte4YMgn


145. Construct a  matrix, whose elements are given by: 

Watch Video Solution

3 × 4

aij = 2i − j

146. Find the values of x, y and z from the following equation:

Watch Video Solution

[
4 3

x 5
] = [

y z

1 5
]

147. Find the value of x, y, z from the following equation 

Watch Video Solution

[
x + y 2

5 + z xy
] = [

6 2

5 8
]

https://dl.doubtnut.com/l/_sNJJBa4IQrY7
https://dl.doubtnut.com/l/_MyTZMmH35W5D
https://dl.doubtnut.com/l/_BkaokgBPpN6m


148. Find the values of x, y and z from the following equation:

Watch Video Solution

⎡
⎢
⎣

x + y + z

x + z

y + z

⎤
⎥
⎦

=
⎡
⎢
⎣

9

5

7

⎤
⎥
⎦

149. Find the values of a, b, c and d from the equation :

 and write correct answer from

the following:

Watch Video Solution

[
a − b 2a + c

2a − b 3c + d
] = [

−1 5

0 13
]

150.  is a square matrix, if 


a. m
<
n

b. m
>
n

c. m
=
n

d. none of these

A = [aij]m×n

https://dl.doubtnut.com/l/_WhvicQK9TJYp
https://dl.doubtnut.com/l/_DpMOPNeGdRoK
https://dl.doubtnut.com/l/_J0lLY9Bo1DZb


A. mltn

B. mgtn

C. m=n

D. none of these

Answer:

Watch Video Solution

151. Which of the given values of x and y make the following pair of

matrices equal 

A. 

B. Not possible to find

C. 

[
3x + 7 5

y + 1 2 − 3x
], [

0 y − 2

8 4
]

x = − , y = 7
1

3

y = 7, x = −
2

3

https://dl.doubtnut.com/l/_J0lLY9Bo1DZb
https://dl.doubtnut.com/l/_wHYV5DGKGHK7


D. 

Answer:

Watch Video Solution

x = − , y = −
1

3

2

3

152. The number of all possible matrices of order  with each

entry 0 or 1 is:

A. 27

B. 18

C. 81

D. 512

Answer:

Watch Video Solution

3 × 3

https://dl.doubtnut.com/l/_wHYV5DGKGHK7
https://dl.doubtnut.com/l/_BziiLVZrHbKA
https://dl.doubtnut.com/l/_wvX3Bg9MGSd8


153. Let A . Find the

followiing : 

A+ B

Watch Video Solution

= [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

154. Let A . Find the

followiing : 

A - B

Watch Video Solution

= [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

155. Let  find A-C

Watch Video Solution

A = [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

https://dl.doubtnut.com/l/_wvX3Bg9MGSd8
https://dl.doubtnut.com/l/_drynpw14qArW
https://dl.doubtnut.com/l/_tEKuirXdUmiE


156. Let  find AB

Watch Video Solution

A = [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

157. Let , Find the

following: 

Watch Video Solution

A = [
2 4

3 2
], B = [

1 3

−2 5
], C = [

−2 5

3 4
]

BA

158. Compute the following: : 

Watch Video Solution

[
a b

−b a
] + [

a b

b a
]

159. Compute the following: :

W h Vid S l i

[
a2 + b2 b2 + c2

a2 + c2 a2 + b2
] + [

2ab 2bc

−2ac −2ab
]

https://dl.doubtnut.com/l/_mVvxfkHmyjzj
https://dl.doubtnut.com/l/_mVuKuYUY8qZV
https://dl.doubtnut.com/l/_xDXcYgq2nphZ
https://dl.doubtnut.com/l/_8YxFOp9bbg24


Watch Video Solution

160. Compute the following: 

Watch Video Solution

⎡
⎢
⎣

−1 4 −6

8 5 16

2 8 5

⎤
⎥
⎦

+
⎡
⎢
⎣

12 7 6

8 0 5

3 2 4

⎤
⎥
⎦

161. Compute the following: : 

Watch Video Solution

[
cos2 x sin2 x

sin2 x cos2 x
] + [

sin2 x cos2 x

cos2 x sin2 x
]

162. Compute the indicated products: 

Watch Video Solution

[
a b

−b a
][

a −b

b a
]

https://dl.doubtnut.com/l/_8YxFOp9bbg24
https://dl.doubtnut.com/l/_QBGSbyDXCYMa
https://dl.doubtnut.com/l/_rADAkhyMGOCB
https://dl.doubtnut.com/l/_p6Cwma93E06a


163. Compute the indicated products: 

Watch Video Solution

⎡
⎢
⎣

1

2

3

⎤
⎥
⎦

[ 2 3 4 ]

164. Compute the indicated products: 

Watch Video Solution

[
1 −2

2 3
][

1 2 3

2 3 1
]

165. Compute the indicated products: 

Watch Video Solution

⎡
⎢
⎣

2 3 4

3 4 5

4 5 6

⎤
⎥
⎦

⎡
⎢
⎣

1 −3 5

0 2 4

3 0 5

⎤
⎥
⎦

166. Compute the indicated products: 

Watch Video Solution

⎡
⎢
⎣

2 1

3 2

−1 1

⎤
⎥
⎦
[

1 0 1

−1 2 1
]

https://dl.doubtnut.com/l/_IDY78zi54Bzk
https://dl.doubtnut.com/l/_XBtAMyQoG2Fn
https://dl.doubtnut.com/l/_GQP9wVbXCUxU
https://dl.doubtnut.com/l/_4xX5bxequhET


Watch Video Solution

167. Compute the indicated products: 

Watch Video Solution

[
3 −1 3

−1 0 2
]

⎡
⎢
⎣

2 −3

1 0

3 1

⎤
⎥
⎦

168. If

,

then compute  and . Also, verify that

.

Watch Video Solution

A =
⎡
⎢
⎣

1 2 −3

5 0 2

1 −1 1

⎤
⎥
⎦

, B =
⎡
⎢
⎣

3 −1 2

4 2 5

2 0 3

⎤
⎥
⎦

and C =
⎡
⎢
⎣

4 1 2

0 3 2

1 −2 3

⎤
⎥
⎦

(A + B) (B − C)

A + (B − C) = (A + B) − C

https://dl.doubtnut.com/l/_4xX5bxequhET
https://dl.doubtnut.com/l/_fd18yibyrhUb
https://dl.doubtnut.com/l/_UhCkMYYItHuf


169. If , then compute 

Watch Video Solution

A =

⎡
⎢
⎢
⎢
⎣

1

2

⎤
⎥
⎥
⎥
⎦

and B =

⎡
⎢
⎢
⎢
⎣

1 ⎤
⎥
⎥
⎥
⎦

2
3

5
3

1
3

2
3

4
3

7
3

2
3

2
5

3
5

1
5

2
5

4
5

7
5

6
5

2
5

3A − 5B

170. Simplify, 

Watch Video Solution

cos θ[
cos θ sin θ

−sin θ cos θ
] + sin θ[

sin θ −cos θ

cos θ sin θ
]

171. Find X and Y, if 

Watch Video Solution

X + Y = [
7 0

2 5
] and X − Y = [

3 0

0 3
]

https://dl.doubtnut.com/l/_Cm0gvObwGP9U
https://dl.doubtnut.com/l/_IfCRRIKo2Ma9
https://dl.doubtnut.com/l/_SDiO7Z1thY7b


172. Find X and Y, if

Watch Video Solution

2X + 3Y = [
2 3

4 0
] and 3X + 2Y = [

2 −2

−1 5
]

173. Find X , if 

Watch Video Solution

Y = [
3 2

1 4
] and 2X + Y = [

1 0

−3 2
]

174. Find x and y if 

Watch Video Solution

2[
1 3

0 x
] + [

y 0

1 2
] = [

5 6

1 8
]

175. Solve the equation for x,y,z and t, if

W h Vid S l i

2[
x z

y t
] + 3[

1 −1

0 2
] = 3[

3 5

4 6
]

https://dl.doubtnut.com/l/_gBvEk7nMKbK3
https://dl.doubtnut.com/l/_5ST82wr7zium
https://dl.doubtnut.com/l/_kSzEHEMSYUFC
https://dl.doubtnut.com/l/_JThp7NYFhF3s


Watch Video Solution

176. If , then find the value of x and y.

Watch Video Solution

x[
2

3
] + y[

−1

1
] = [

10

5
]

177. Given  , find the

values of x, y, z and w.

Watch Video Solution

3[
x y

z w
] = [

x 6

−1 2w
] + [

4 x + y

z + w 3
]

178. If `F (x) = [[cos x,-sin x,0],[sin x, cos x, 0],[0,0,1], then show that F(x)

F(y)= F (x+y).

Watch Video Solution

https://dl.doubtnut.com/l/_JThp7NYFhF3s
https://dl.doubtnut.com/l/_A7acvfJaDajw
https://dl.doubtnut.com/l/_F9nRx1NYz8c4
https://dl.doubtnut.com/l/_zCxPQSJnBPzG


179. Show that: 

Watch Video Solution

[
5 −1

6 7
][

2 1

3 4
] ≠ [

2 1

3 4
][

5 −1

6 7
]

180. Show that:

Watch Video Solution

⎡
⎢
⎣

1 2 3

0 1 0

1 1 0

⎤
⎥
⎦

⎡
⎢
⎣

−1 1 0

0 −1 1

2 3 4

⎤
⎥
⎦

≠
⎡
⎢
⎣

−1 1 0

0 −1 1

2 3 4

⎤
⎥
⎦

⎡
⎢
⎣

1 2 3

0 1 0

1 1 0

⎤
⎥
⎦

181. If , then find 

Watch Video Solution

A =
⎡
⎢
⎣

2 0 1

2 1 3

1 −1 0

⎤
⎥
⎦

A2 − 5A6I

182. If  , prove that A =
⎡
⎢
⎣

1 0 2

0 2 1

2 0 3

⎤
⎥
⎦

A3 − 6A2 + 7A + 2I = 0

https://dl.doubtnut.com/l/_3IUQrJyRrudT
https://dl.doubtnut.com/l/_0nCaXy47MS1Y
https://dl.doubtnut.com/l/_7a6ckKeLZgK4
https://dl.doubtnut.com/l/_w1YgGSCTAUPU


Watch Video Solution

183. If  , then find k so that 

Watch Video Solution

A = [
3 −2

4 −2
] and I = [

1 0

0 1
]

A2 = kA − 2I

184. If  and I is the identity matrix of order 2,

show that 

Watch Video Solution

A = [
0 −

0
]

tan α

2
tan α

2

I + A = (I − A)[
cosα −sinα

sinα cosα
]

185. A trust fund has Rs. 30,000 that must be invested in two

different types of bonds.
 The first bond pays 5% interest per year,

and the second bond pays 7% interest
 per year. Using matrix

multiplication, determine how to divide Rs.30,000 among
 the two

https://dl.doubtnut.com/l/_w1YgGSCTAUPU
https://dl.doubtnut.com/l/_J2deY2OMvzNj
https://dl.doubtnut.com/l/_YpYQFmWtGBtI
https://dl.doubtnut.com/l/_deDXEKPWIxIi


types of bonds. If the trust fund must obtain an annual total

interest of: Rs.1800

Watch Video Solution

186. A trust fund has Rs. 30,000 that must be invested in two

different types of bonds.
 The first bond pays 5% interest per year,

and the second bond pays 7% interest
 per year. Using matrix

multiplication, determine how to divide Rs.30,000 among
 the two

types of bonds. If the trust fund must obtain an annual total

interest of: Rs.2000

Watch Video Solution

187. Assume X, Y, Z, W and P are matrices of order


 respectively. The restriction

on n, k and p so that PY + WY will be defined are:

2 × n, 3 × k, 2 × p, n × 3 and p × k

https://dl.doubtnut.com/l/_deDXEKPWIxIi
https://dl.doubtnut.com/l/_Ub3adyQSJQyG
https://dl.doubtnut.com/l/_wTZI6x4GJ92k


A. k = 3, p =n

B. k is arbitrary, p = 2

C. p is arbitrary , k = 3

D. k = 2, p = 3

Answer:

Watch Video Solution

188. Assume X, Y, Z, W and P are matrices of order


 respectively.If n = p, then the

order of the matrix is:

A. 

B. 

C. 

2 × n, 3 × k, 2 × p, n × 3 and p × k

7X– 5Z

p × 2

2 × n

n × 3

https://dl.doubtnut.com/l/_wTZI6x4GJ92k
https://dl.doubtnut.com/l/_jycOYW0LXfDc


D. 

Answer:

Watch Video Solution

p × n

189. Find the transpose of each of the followig matrices. 

Watch Video Solution

⎡
⎢⎢
⎣

5

−1

⎤
⎥
⎥
⎦

1
2

190. Find the transpose of each of the followig matrices. 

Watch Video Solution

[
1 −1

2 3
]

https://dl.doubtnut.com/l/_jycOYW0LXfDc
https://dl.doubtnut.com/l/_bjGJ8EKAaXEp
https://dl.doubtnut.com/l/_2ZrihiYe0zcP


191. Find the transpose of each of the following matrices: 

Watch Video Solution

⎡
⎢
⎣

−1 5 6

√3 5 6

2 3 −1

⎤
⎥
⎦

192. If , then show

that (A +B) = A'+B'

Watch Video Solution

A =
⎡
⎢
⎣

−1 2 3

5 7 9

−2 1 1

⎤
⎥
⎦

and B =
⎡
⎢
⎣

−4 1 −5

1 2 0

1 3 1

⎤
⎥
⎦

193. If  , then verify

that 

Watch Video Solution

A =
⎡
⎢
⎣

−1 2 3

5 7 9

−2 1 1

⎤
⎥
⎦

and B =
⎡
⎢
⎣

−4 1 −5

1 2 0

1 3 1

⎤
⎥
⎦

(A − B)' = A' − B'

https://dl.doubtnut.com/l/_SJGX4rdd1VVG
https://dl.doubtnut.com/l/_SkTWG3RB7ink
https://dl.doubtnut.com/l/_rxYBEGmSzVKi
https://dl.doubtnut.com/l/_nQfwvL3VM3lb


194. If , then porve that

(A+B)' = A' + B'

Watch Video Solution

A' =
⎡
⎢
⎣

3 4

−1 2

0 1

⎤
⎥
⎦

and B = [
−1 2 1

1 2 3
]

195. If , then porve that (A-

B)' = A' - B'

Watch Video Solution

A' =
⎡
⎢
⎣

3 4

−1 2

0 1

⎤
⎥
⎦

and B = [
−1 2 1

1 2 3
]

196. If  then find (A+2B)'

Watch Video Solution

A' = [
−2 3

1 2
] and B = [

−1 0

1 2
]

https://dl.doubtnut.com/l/_nQfwvL3VM3lb
https://dl.doubtnut.com/l/_JdV70xAMdwSH
https://dl.doubtnut.com/l/_HSuPooXeVdKB


197. For the matrices A and B, verify that , where : 

Watch Video Solution

(AB)' = B'A'

A =
⎡
⎢
⎣

1

−4

3

⎤
⎥
⎦

, B = [ −1 2 1 ]

198. For the matrices A and B, verify that , where : 

Watch Video Solution

(AB)' = B'A'

A =
⎡
⎢
⎣

0

1

2

⎤
⎥
⎦

, B = [ 1 5 7 ]

199. If , verify that AA' = I_2 = A'A

Watch Video Solution

A = [
cosα sinα

−sinα cosα
]

https://dl.doubtnut.com/l/_Ys861zDAztwe
https://dl.doubtnut.com/l/_4K5e6GePu78y
https://dl.doubtnut.com/l/_AsGdKoOaI83i


200. If , then prove that A'A = I.

Watch Video Solution

A = [
sinα cosα

−cosα sinα
]

201. Show that the matrix  is a symmetric

matrix.

Watch Video Solution

A =
⎡
⎢
⎣

1 −1 5

−1 2 1

5 1 3

⎤
⎥
⎦

202. Show that the matrix  is a skew

symmetric matrix.

Watch Video Solution

A =
⎡
⎢
⎣

0 1 −1

−1 0 1

1 −1 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_Hzuo8VJL6tdW
https://dl.doubtnut.com/l/_SHiiqdJbpGo9
https://dl.doubtnut.com/l/_hRywGV2ajkwJ


203. For the matrix , verify that  is a

symmetric matrix.

Watch Video Solution

A = [
1 5

6 7
] (A + A' )

204. For the matrix , verify that 


 is a skew symmetric matrix.

Watch Video Solution

A = [
1 5

6 7
]

(A − A' )

205. Find , when 

.

Watch Video Solution

(A + A' ) and (A − A' )
1
2

1
2

A =
⎡
⎢
⎣

0 a b

−a 0 c

−b −c 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_KCWWrpGQHFKN
https://dl.doubtnut.com/l/_AAsNTlWq6i73
https://dl.doubtnut.com/l/_tSOoJtevfzqs


206. Express the following matrices as the sum of a symmetric and a

skew symmetric
matrix: : 

Watch Video Solution

[
3 5

1 −1
]

207. Express the following matrices as sum of a symmetric and a

skew symmetric matrix 

Watch Video Solution

⎡
⎢
⎣

6 −2 2

−2 3 −1

2 −1 3

⎤
⎥
⎦

208. Express the following matrices as the sum of a symmetric and

skew-symmetric matrix. 

Watch Video Solution

⎡
⎢
⎣

3 3 −1

−2 −2 1

−4 −5 2

⎤
⎥
⎦

https://dl.doubtnut.com/l/_jd4uKOtf8Zrp
https://dl.doubtnut.com/l/_DppmQ9D2WSx4
https://dl.doubtnut.com/l/_07AzIMUBTjYh


209. Express the following matrices as sum of a symmetric and a

skew symmetric matrix 

Watch Video Solution

[
1 5

−1 2
]

210. If A, B are symmetric matrices of same order, then AB - BA is a :

A. Skew-symmetric matrix

B. Symmetric matrix

C. Zero matrix

D. Identify matrix.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_tEdlfdnqLMFq
https://dl.doubtnut.com/l/_ZbVykynvQRCv
https://dl.doubtnut.com/l/_XWfXmCSQFzQa


211. If , then A + A' = I, if the value of  is

A. 

B. 

C. p

D. 

Answer:

Watch Video Solution

A = [
cosα −sinα

sinα cosα
] α

π

6

π

3

3π
2

212. Using elementary transformation, find the inverse of the

following matrix 

Watch Video Solution

[
1 −1

2 3
]

https://dl.doubtnut.com/l/_XWfXmCSQFzQa
https://dl.doubtnut.com/l/_totadrwP0mtA
https://dl.doubtnut.com/l/_h3j13WCmysUQ


213. Using elemenatry transformations, find the inverse of the

following matrices 

Watch Video Solution

[
2 1

1 1
]

214. Using elemenatry transformations, find the inverse of the

following matrices 

Watch Video Solution

[
1 3

2 7
]

215. Using elemenatry transformations, find the inverse of the

following matrices 

Watch Video Solution

[
2 3

5 7
]

https://dl.doubtnut.com/l/_h3j13WCmysUQ
https://dl.doubtnut.com/l/_FYoWAqcRdglI
https://dl.doubtnut.com/l/_EwBEFhdsQAzw


216. Using the elementary row operations, find the inverse of each of

the following matrices: 

Watch Video Solution

[
2 1

7 4
]

217. Using elementary transformation, find the inverse (if exists) of

the following matrices 

Watch Video Solution

[
2 5

1 3
]

218. Using elemenatry transformations, find the inverse of the

following matrices 

Watch Video Solution

[
3 1

5 2
]

https://dl.doubtnut.com/l/_opcUOFeTP1s2
https://dl.doubtnut.com/l/_nXET5O6EpWDs
https://dl.doubtnut.com/l/_XrPRAwldtZog


219. Using elementary transformations find the inverse of the matrix

Watch Video Solution

A = [
4 5

3 4
]

220. Using elemenatry transformations, find the inverse of the

following matrices 

Watch Video Solution

[
3 10

2 7
]

221. Using elementary transformations find the inverse of the

following matrice 

Watch Video Solution

[
3 −1

−4 2
]

https://dl.doubtnut.com/l/_XrPRAwldtZog
https://dl.doubtnut.com/l/_D2o8FJXkYulJ
https://dl.doubtnut.com/l/_xwMkNAoyD8zf
https://dl.doubtnut.com/l/_13ZdsmGKhAZL


222. Using elementary transformations , find the inverse of the

following matrice 

Watch Video Solution

[
2 −6

1 −2
]

223. Using elemenatry transformations, find the inverse of the

following matrices 

Watch Video Solution

[(6, − 3), ( − 2, 1)

224. Using elementary transformations , find the inverse of the

following matrice 

Watch Video Solution

[
2 −3

−1 2
]

https://dl.doubtnut.com/l/_ov3vqr6tPkxB
https://dl.doubtnut.com/l/_cakiio5AdcOq
https://dl.doubtnut.com/l/_Xj694zyzWlCi


225. Using elemenatry transformations, find the inverse of the

following matrices 

.

Watch Video Solution

[
2 1

4 2
]

226. Using elemenatry transformations, find the inverse of the

following matrices 

Watch Video Solution

⎡
⎢
⎣

2 −3 3

2 2 3

3 −2 2

⎤
⎥
⎦

227. Using elemenatry transformations, find the inverse of the

following matrices 

⎡
⎢
⎣

1 3 −2

−3 0 −5

2 5 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_SznPdpX0ncy6
https://dl.doubtnut.com/l/_smYl56Qv7iDu
https://dl.doubtnut.com/l/_Rsr2y2jwFaQz


Watch Video Solution

228. Using elemenatry transformations, find the inverse of the

following matrices 

Watch Video Solution

⎡
⎢
⎣

2 0 −1

5 1 0

0 1 3

⎤
⎥
⎦

229. Matrices A and B will be inverse of each other only if 

a. AB = BA

b. AB = BA = 0

c. AB = 0, BA = I

d. AB = BA = I

A. AB = BA

https://dl.doubtnut.com/l/_Rsr2y2jwFaQz
https://dl.doubtnut.com/l/_wXLGhmPpQc6b
https://dl.doubtnut.com/l/_jYEaJc9OIJp0


B. AB = BA = O

C. AB = O, BA = I

D. AB = BA = I

Answer:

Watch Video Solution

230. Fill in the blanks: 

A matrix, in which number of rows is equal to number of columns, is

called a ………….. Matrix.

Watch Video Solution

231. A matrix which is not a square matrix is called a …. Matrix .

Watch Video Solution

https://dl.doubtnut.com/l/_jYEaJc9OIJp0
https://dl.doubtnut.com/l/_GFdxuVpvdpda
https://dl.doubtnut.com/l/_IOxxzEiSYBUt


232. Fill in the blanks: 

If A is a matrix, then  can be computed only if it is a …………. Matrix.

Watch Video Solution

A2

233. Fill in the blanks: 

The negative of a matrix is obtained by multiplying it with the

scalar…………..

Watch Video Solution

234. Fill in the blanks: 

If a matrix A is multiplied by the scalar, 0, then we obtain a ………..

Matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_fT2EmldAKjRc
https://dl.doubtnut.com/l/_iH6u7W52nFG9
https://dl.doubtnut.com/l/_Uqu3puYz2O4p
https://dl.doubtnut.com/l/_s3fPqnkA7dhT


235. Fill in the blanks: 

If A is a matrix of order , then IA = A where I is the identity

matrix of order………

Watch Video Solution

m × n

236. The product of any matrix by the scalar ……. Is the null matrix .

Watch Video Solution

237. Fill in the blanks: 

If A is a matrix of order , then IA = A where I is the identity

matrix of order………

Watch Video Solution

m × n

https://dl.doubtnut.com/l/_s3fPqnkA7dhT
https://dl.doubtnut.com/l/_p0IYb9riAAXs
https://dl.doubtnut.com/l/_SLODCFSb4e0Q


238. Fill in the blanks: 

Matrix multiplication is ……….. Over matrix oaddition.

Watch Video Solution

239. Fill in the blanks: 

Matrix multiplication is not……………….. .

Watch Video Solution

240. Fill in the blanks: 

Matrix multiplication is …….. .

Watch Video Solution

https://dl.doubtnut.com/l/_ExL1YXJY6d7f
https://dl.doubtnut.com/l/_9ihiPm9BKepC
https://dl.doubtnut.com/l/_dYwhR9lSRo0Y


241. Fill in the blanks: 

If A is any square matrix then AA' is always n ……… matrix.

Watch Video Solution

242. Fill in the blanks: 

If A is any square matrix then A-A' is always n ……… matrix.

Watch Video Solution

243. Fill in the blanks: 

If a square matrix is both symmetric and skew symmetric then it is a

………. Matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_On7cxRuL1C40
https://dl.doubtnut.com/l/_iFnLzKbHzbVf
https://dl.doubtnut.com/l/_YLpFeAYSTKDp


244. If A and B are two skew symmetric matrices of same order, then

AB is symmetric matrix if ……..

Watch Video Solution

245. If A and B are symmetric matrices of the same order, then show

that AB
is symmetric if and only if A and B commute, that is AB = BA.

Watch Video Solution

246. Fill in the blanks: 

If A,B,C are three matrices such that AB and BC are defined then A

(BC)= …………

Watch Video Solution

https://dl.doubtnut.com/l/_SUAUeSw92meZ
https://dl.doubtnut.com/l/_KIR0LJquNTRt
https://dl.doubtnut.com/l/_1TT6NPzzrHEP


247. If A is any square matrix then A + A' is a :

Watch Video Solution

248. If A is a skew symmetric matrix, then  is a ……

Watch Video Solution

A2

249. If A is a symmetric matrix , then  is a …… matrix .

Watch Video Solution

A3

250. Fill in the blanks: 

If A is a symmetric matrix then  is a …. Matrix.

Watch Video Solution

A2

https://dl.doubtnut.com/l/_ENnkYTH0W0jj
https://dl.doubtnut.com/l/_q0AQ9JF3s6tA
https://dl.doubtnut.com/l/_S6gDOBVUh1CU
https://dl.doubtnut.com/l/_WUcdvbGs23hN


251. Fill in the blanks: 

If A and B are square matrices of the same order then (AB)' = …………../

Watch Video Solution

252. Fill in the blanks: 

If A and B are square matrices of the same order then (A+B)' = …………..

.

Watch Video Solution

253. Fill in the blanks: 

If k is any sclar and A is any matrix, then (k A)' = ………..

Watch Video Solution

https://dl.doubtnut.com/l/_ydCXM9xYCQJS
https://dl.doubtnut.com/l/_SjowriL6xej1
https://dl.doubtnut.com/l/_MiGnJsukMkSH


254. Fill in the blanks: 

If k is any sclar and A is any matrix, then [k (A-B)]' = ………..

Watch Video Solution

255. If A is skew symmetric , then kA is a …….

Watch Video Solution

256. Fill in the blanks: 

If A is a symmetric matrix of order n and B is any square matrix of

the same order then B'AB is a ……….. Matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_zcQxFtp3uYME
https://dl.doubtnut.com/l/_WEqyKjhm905J
https://dl.doubtnut.com/l/_uiVXQNzj0Qcr


257. Fill in the blanks: 

If A and B are symmetric matrices of the same order than AB + BA is

a ……… matrix.

Watch Video Solution

258. Fill in the blanks: 

If A and B are symmetric matrices of the same order than AB - BA is a

………… matrix.

Watch Video Solution

259. If A and B are square matrices of the same order, then

 is equal to

Watch Video Solution

(A + B)(A − B)

https://dl.doubtnut.com/l/_5IX8L4DsQG1C
https://dl.doubtnut.com/l/_CN3ZFVxouplw
https://dl.doubtnut.com/l/_gOkJiu91u4ms
https://dl.doubtnut.com/l/_x1590OKf3t7p


260. Fill in the blanks: 

If A and B are matrices of the same order than (3 A - 2B)' is equal to

……… .

Watch Video Solution

261. Fill in the blanks: 

If A and B are symmetric matrices of the same order then BA - 2 AB is

…………….. .

Watch Video Solution

262. Fill in the blanks: 

If A and B are two matrices then A + B is defined only if these are of

the ……… order.

Watch Video Solution

https://dl.doubtnut.com/l/_x1590OKf3t7p
https://dl.doubtnut.com/l/_c9X039svXir5
https://dl.doubtnut.com/l/_AR0GhjLAmBDS


263. Fill in the blanks: 

If A is a square matrix of order n and there exists a square matrix B

of order n such that  then A is an ……………. Matrix.

Watch Video Solution

AB = In = BA,

264. Fill in the blanks: 

In applying one or more row operations while finding  by

elementry row operations, if we obtain all zeros in one or more

rows, then 

Watch Video Solution

A− 1

A− 1………. .

265. Addition is commutative for

Watch Video Solution

https://dl.doubtnut.com/l/_9GTM6Dctl6ya
https://dl.doubtnut.com/l/_0frigkwx6FHv
https://dl.doubtnut.com/l/_jPnDNHOK4H8J
https://dl.doubtnut.com/l/_5heVTWcOIzAd


266. A matrix denotes a number

Watch Video Solution

267. True or False statements : 

Matrix addition is not associative.

Watch Video Solution

268. True or False statements : 

Subtraction of matrice is commutative.

Watch Video Solution

269. Matrix subtraction is associative

Watch Video Solution

https://dl.doubtnut.com/l/_5heVTWcOIzAd
https://dl.doubtnut.com/l/_MQdpJWvAW4WI
https://dl.doubtnut.com/l/_nLFrCsTgyedK
https://dl.doubtnut.com/l/_yyF2y8TxaCSl


270. If two matrices A and B are of the same order, then

 .

Watch Video Solution

2A + B = B + 2A

271. Two matrices are equal if they have same number of rows and

same number of columns .

Watch Video Solution

272. True or False statements : 

Two matrices are said to be comparable if they are of the same

order.

Watch Video Solution

https://dl.doubtnut.com/l/_yyF2y8TxaCSl
https://dl.doubtnut.com/l/_Tv96CvwtWrmn
https://dl.doubtnut.com/l/_HS7m27dfqkdx
https://dl.doubtnut.com/l/_xgNLPWSukpqr
https://dl.doubtnut.com/l/_0X7qpnp64ucU


273. Matrix multiplication is commutative .

Watch Video Solution

274. True or False statements : 

If A and B are non-zero square matrices of the same order then AB is

also a non-zero matrix.

Watch Video Solution

275. If matrix AB=O, then A=O or B=O or both A and B are null

matrices .

Watch Video Solution

https://dl.doubtnut.com/l/_0X7qpnp64ucU
https://dl.doubtnut.com/l/_PnIKd2WkhSUT
https://dl.doubtnut.com/l/_L8UP5omf239W


276. True or False statements : 

If A,B,C are three matrices such that both AB and AC are defined and

are equal, then it implies that B and C are equal matrices.

Watch Video Solution

277. True or False statements : 

Matrix multiplication is associative.

Watch Video Solution

278. True or False statements : 

A square matrix in which every element is unity, is called an identity

matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_VJRy4Xxn06j4
https://dl.doubtnut.com/l/_SUix9eXd58HD
https://dl.doubtnut.com/l/_HhL7ULy4CzMM
https://dl.doubtnut.com/l/_Gva0WqPhTqX0


279. True or False statements : 

In an identity matrix, every non-diagonal element is zero.

Watch Video Solution

280. True or False statements : 

In an diagonal matrix, every non-diagonal entry is zero.

Watch Video Solution

281. True or False statements : 

In a scalar matrix, all the non-diagonal entries are equal.

Watch Video Solution

https://dl.doubtnut.com/l/_Gva0WqPhTqX0
https://dl.doubtnut.com/l/_yC94dWPF9aHH
https://dl.doubtnut.com/l/_pc6a7GC3vurI


282. True or False statements : 

Transpose of a column matrix is a column matrix.

Watch Video Solution

283. True or False statements : 

Transpose of a row matrix is a column matrix.

Watch Video Solution

284. If A, B and C are square matrices of same order, then AB=AC

always implies that B=C .

Watch Video Solution

https://dl.doubtnut.com/l/_3OTJMa7MDtdw
https://dl.doubtnut.com/l/_Iftdy8HSxnjb
https://dl.doubtnut.com/l/_nmitFYjZ4wdB


285. True or False statements : 

For a non-singular matrix A, .

Watch Video Solution

(A' ) − 1 = (A− 1)'

286. If A and B are symmetric matrices of same order then

 is a :

Watch Video Solution

AB + BA

287. True or False statements : 

If A is any matrix, then AA' is always a symmetric matrix.

Watch Video Solution

https://dl.doubtnut.com/l/_EIILKVhr4aKH
https://dl.doubtnut.com/l/_OvSf43N5hkUb
https://dl.doubtnut.com/l/_I8JK9HrazRIx


288. True or False statements : 

If A is any matrix, then AA' is always a symmetric matrix.

Watch Video Solution

289. True or False statements : 

If A is any square matrix, then  is always skew-symmetric.

Watch Video Solution

A + A'

2

290. True or False statements : 

If A is any square matrix, then  is always symmetric.

Watch Video Solution

A − A'

2

291. If A is a skew symmetric matrix, then  is a ……A2

https://dl.doubtnut.com/l/_J54Ii5q0I66q
https://dl.doubtnut.com/l/_jEMJTYfH2f8I
https://dl.doubtnut.com/l/_sTSI54CG5Rcp
https://dl.doubtnut.com/l/_2CvJJdBy32Ar


Watch Video Solution

292. True or False statements : 

If A and B are invertible matrices then AB is invertible and

Watch Video Solution

(AB)
− 1

= B− 1A− 1

293. True or False statements : 

If and B are invertible matrices such that AB = BA, then

Watch Video Solution

(AB)
− 1

= A− 1B− 1

294. True or False statements : 

If A and B are invertible matrices of he same order than A + B is also

https://dl.doubtnut.com/l/_2CvJJdBy32Ar
https://dl.doubtnut.com/l/_SxO3MtE3ywxF
https://dl.doubtnut.com/l/_EdcrEyZFWWVf
https://dl.doubtnut.com/l/_kUgJBc9Kt2Bz


invertible.

Watch Video Solution

295. If (AB)=B'A' , where A and B are not square matrices, then

number of rows in A is equal to number of column in B and number

of columns in A is equal to number of rows in B .

Watch Video Solution

296. True or False statements : 

Sum of three symmetric matrices of the same order is always

symmetric.

Watch Video Solution

https://dl.doubtnut.com/l/_kUgJBc9Kt2Bz
https://dl.doubtnut.com/l/_U9f8dfhQqaOk
https://dl.doubtnut.com/l/_IkDTxiL3yxag


297. If A and B are two square matrices of the same order, then

A+B=B+A .

Watch Video Solution

298. True or False statements : 

if A and B are square matrices of the same order then A - B = B - A.

Watch Video Solution

299. True or False statements : 

Matrices of different types cannot be subtracted.

Watch Video Solution

https://dl.doubtnut.com/l/_vgmVmMcrjwDM
https://dl.doubtnut.com/l/_h6g7PHyBNfKh
https://dl.doubtnut.com/l/_nNXpwchToxsQ


300. If  and  , then AB and BA are

defined and equal .

Watch Video Solution

A = [
2 3 −1

1 4 2
] B =

⎡
⎢
⎣

2 3

4 5

2 1

⎤
⎥
⎦

301. If A and B are symmetric matrices of same order then

 is a :

Watch Video Solution

AB − BA

302. Prove that any square matrix can be expressed as sum of

symmetric and skew symmetric matrix uniquely

Watch Video Solution

https://dl.doubtnut.com/l/_V7Q0DbGaymWt
https://dl.doubtnut.com/l/_QxYYfgYgstF8
https://dl.doubtnut.com/l/_wgr25S2a2hFH


303. True or False statements : 

Every diagonal entry of a skew-symmetric matrix is non-zero.

Watch Video Solution

304. Match the following 

Watch Video Solution

305. Let A be a  matrix, then each column of A contains

A. 7 elements

5 × 7

https://dl.doubtnut.com/l/_oCz7YsIrM3Vs
https://dl.doubtnut.com/l/_mly907mL4gEX
https://dl.doubtnut.com/l/_hsMXANUXHLsi


B. 5 elements

C. 35 elements

D. none of these

Answer:

Watch Video Solution

306. If matrix A is of order , then each row of matrix A contains

elements :

A. 12 elements

B. 4 elements

C. 3 elements

D. none of these

Answer:

4 × 3

https://dl.doubtnut.com/l/_hsMXANUXHLsi
https://dl.doubtnut.com/l/_PpxCD2zCB0Q8


Watch Video Solution

307. The numner of all possible matrices of order  with each

entry 0 or 1 is

A. 64

B. 12

C. 36

D. none of these

Answer:

Watch Video Solution

2 × 3

308. The matrix  is aA =
⎡
⎢
⎣

0 0 6

0 6 0

6 0 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_PpxCD2zCB0Q8
https://dl.doubtnut.com/l/_zD6zUvsZSyAL
https://dl.doubtnut.com/l/_K721hRIAkDaS


A. scalar

B. diagonal matrix

C. unit matrix

D. square matrix

Answer:

Watch Video Solution

309. The number of all possible matrices of order  with each

element 0 or 2 is :

A. 0

B. 27

C. 81

D. 512

3 × 3

https://dl.doubtnut.com/l/_K721hRIAkDaS
https://dl.doubtnut.com/l/_vO25q8RR6cql


Answer:

Watch Video Solution

310. If , then the values of x,y are

A. x = 3, y = 1

B. x = 2, y = 3

C. x = 2, y = 4

D. x = 3, y = 3

Answer:

Watch Video Solution

[
2x + y 4x

5x − 7 4x
] = [

7 7y − 13

y x + 6
]

311. If , then  is the matrixλ ∈ R λI2

https://dl.doubtnut.com/l/_vO25q8RR6cql
https://dl.doubtnut.com/l/_8SNKZxnK1k38
https://dl.doubtnut.com/l/_8Jj4fdxvSqX5


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[
λ λ

0 0
]

[
λ λ

λ λ
]

[
0 λ

λ 0
]

[
λ 0

0 λ
]

312. If A is of order , B is of order  such that AB is

defined, then:

A. m = q

B. m = p

C. n = p

D. n = q

m × n p × q

https://dl.doubtnut.com/l/_8Jj4fdxvSqX5
https://dl.doubtnut.com/l/_DQfFopllbhUH


Answer:

Watch Video Solution

313. If P is of order  and Q is of order , then PQ is of order

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2 × 3 3 × 2

2 × 3

2 × 2

3 × 2

3 × 3

314. If A and B are square matrices of the same order, then

 is equal to(A + B)(A − B)

https://dl.doubtnut.com/l/_DQfFopllbhUH
https://dl.doubtnut.com/l/_frbLUqUtUSfu
https://dl.doubtnut.com/l/_xCI3jhOSElAJ


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A2 − B2

A2 − BA − AB − AB2

A2 − B2 + BA − AB

A2 − BA + B2 + AB

315. If  and  , then

A. only AB is defined

B. only BA is defined

C. both AB and BA are defined

D. both AB and BA are defined and AB = BA

A = [
2 −1 3

−4 5 1
] B =

⎡
⎢
⎣

2 3

4 −2

1 5

⎤
⎥
⎦

https://dl.doubtnut.com/l/_xCI3jhOSElAJ
https://dl.doubtnut.com/l/_uGWJZ8XKA6xJ


Answer:

Watch Video Solution

316. If A is any  matrix, then  can be found only when

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

m × n A2

m < n

m > n

m = n

317. If  then  is equal toA = [
0 1

1 0
] A2

https://dl.doubtnut.com/l/_uGWJZ8XKA6xJ
https://dl.doubtnut.com/l/_IPACBsaRrUZM
https://dl.doubtnut.com/l/_jpiuKvvtadh5


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[
0 1

1 0
]

[
1 0

1 0
]

[
0 1

0 1
]

[
0 1

0 1
]

318. If and


 then A - B is equal to

A. 

B. O

C. 

D. 

|xπ| ≤ 1, A = [
sin− 1(xπ) tan− 1( )

sin− 1( ) cot − 1(xπ)
]

1

π

x
π

x
π

B = [
−cos − 1(xπ) tan− 1( )

sin− 1( ) −tan− 1(xπ)
]

1

π

x
π

x
π

I

2I

I
1

2

https://dl.doubtnut.com/l/_jpiuKvvtadh5
https://dl.doubtnut.com/l/_vXJrekMy4vLx


Answer:

Watch Video Solution

319. The matrix  is a

A. identity matrix

B. Symmetric matrix

C. skew-symmetric matrix

D. none of these

Answer:

Watch Video Solution

⎡
⎢
⎣

1 0 0

0 2 0

0 0 4

⎤
⎥
⎦

320. If A is a square matrix, then A is symmetric iff

https://dl.doubtnut.com/l/_vXJrekMy4vLx
https://dl.doubtnut.com/l/_7ckhDN0Kbc2W
https://dl.doubtnut.com/l/_BdOtZqDphpDr


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

A2 = A

A2 = I

At = A

At = − A

321. If A is a square matrix, then A is skew symmetric iff

A. 

B. 

C. 

D. 

Answer:

A2 = A

A2 = I

At = A

At = − A

https://dl.doubtnut.com/l/_BdOtZqDphpDr
https://dl.doubtnut.com/l/_XSED7dZzFjHz


Watch Video Solution

322. If A and B are two matrices of the order  and 

respectively and m = n, then the order of the matrix 2 A - 5 B is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

3 × m 3 × n

m × 3

3 × 3

3 × n

m × n

323. The matrix  is a
⎡
⎢
⎣

0 −1 8

1 0 12

−8 −12 0

⎤
⎥
⎦

https://dl.doubtnut.com/l/_XSED7dZzFjHz
https://dl.doubtnut.com/l/_bPxYQxi3HixD
https://dl.doubtnut.com/l/_VXFDhpHnyrru


A. diagonal matrix

B. Symmetric matrix

C. scalar matrix

D. skew-symmetric matrix.

Answer:

Watch Video Solution

324. If A is any square matrix, then

A.  is skew symmetric

B.  is symmetric

C.  is symmetric

D. none of these

Answer:

A + At

A − At

A + At

https://dl.doubtnut.com/l/_VXFDhpHnyrru
https://dl.doubtnut.com/l/_6c9s57gPJ1CG


Watch Video Solution

325. If A and B are symmetric matrices of the same order, then

A. AB is a symmetric matrix

B. A - B is a skew-symmetric matrix

C. AB + BA is a symmetric matrix.

D. AB - BA is a symmetric matrix.

Answer:

Watch Video Solution

326. If A and B are two skew symmetric matrices of same order, then

AB is symmetric matrix if ……..

A. AB is symmetric

https://dl.doubtnut.com/l/_6c9s57gPJ1CG
https://dl.doubtnut.com/l/_2Zm12XRMnRme
https://dl.doubtnut.com/l/_sySXWEvJU2Rf


B. AB + BA is symmetric

C. AB - BA is symmetric

D. none of these

Answer:

Watch Video Solution

327. If A is a matrix of order  and B is a matix such that AB'

and B'A are both defined, then order of matrix B is

A. 

B. 

C. 

D. 

Answer:

m × n

m × n

n × n

n × m

m × n

https://dl.doubtnut.com/l/_sySXWEvJU2Rf
https://dl.doubtnut.com/l/_b25XjKWhBgTi


Watch Video Solution

328. Each diagonal element of a skew symmetric matrix is

A. zero

B. positive

C. negative

D. non-real

Answer:

Watch Video Solution

329. show that  is nilpotent matrix of order

3.

⎡
⎢
⎣

1 1 3

5 2 6

−2 −1 −3

⎤
⎥
⎦

= A

https://dl.doubtnut.com/l/_b25XjKWhBgTi
https://dl.doubtnut.com/l/_kbTwqK5K8PA7
https://dl.doubtnut.com/l/_MIIll3GegXPX


A. idempotent

B. nilpotent

C. symmetric

D. skew-symmetric matrix.

Answer:

Watch Video Solution

330. If A and B are two matrices such that both A+B and AB are

defined, then

A. A and B can be any tow matrices

B. A and B are square matrices nto necessarily of the same order.

C. A and B are square matrices of the same order

D. number of columns of A = number of rows of B.

https://dl.doubtnut.com/l/_MIIll3GegXPX
https://dl.doubtnut.com/l/_iKr6g3E5kIsf


Answer:

Watch Video Solution

331. If A + B =  then A =

A. 

B. 

C. 

D. none of these

Answer:

Watch Video Solution

[
1 0

1 1
] and A − 2B = [

−1 1

0 −1
]

[
1 1

2 1
]

1

3

[(2, 1). (1, 2)]
1

3

[
1 1

2 1
]

332. If  and  then f(A) =f(x) = x2 + 4x − 5 A = [
1 2

4 −3
]

https://dl.doubtnut.com/l/_iKr6g3E5kIsf
https://dl.doubtnut.com/l/_qIzxwty9sloA
https://dl.doubtnut.com/l/_ZoJ4b9EIhkvL


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

[
0 −4

8 8
]

[
2 1

2 0
]

[
1 1

1 0
]

[
8 4

8 0
]

333. If A and B are symmetric matrices of the same order, then

A. null matrix

B. unit matrix

C. skew-symmetric matrix

D. symmetric matrix

Answer:

https://dl.doubtnut.com/l/_ZoJ4b9EIhkvL
https://dl.doubtnut.com/l/_vkJ6fQepoaNT


Watch Video Solution

334. If A and B are any two matrics then

A. Both AB and BA are defined

B. AB is defined but BA is not defined

C. BA is defined but AB is not defined

D. Neither of AB and BA may be defined.

Answer:

Watch Video Solution

335. The matrix  is an

A. unit matrix

⎡
⎢
⎣

1 1 1

1 1 1

1 1 1

⎤
⎥
⎦

https://dl.doubtnut.com/l/_vkJ6fQepoaNT
https://dl.doubtnut.com/l/_0T8bvF2EeN7i
https://dl.doubtnut.com/l/_Jr5iOyVOvXZg


B. null matrix

C. symmetric matrix

D. skew-symmetric matrix.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Jr5iOyVOvXZg

